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Simplify each expression.

1.11m-9m=___ 2.y+8y=___ 3.135 —s= __
4.d+2d+d=___ 50@Gb—-b)—2b=___ 6. 104z+2z= _
7.21—-(10—-5)=___ 8.(900 —100) —100=__ 9.90-(50—-1)= __
10.18+- (27 +-9) =__ 11.(63 +7)+9=___ 12.40 - (36 - 9) = ___
13. 48 +-6) - (11 —9) = ______ 14. 3+17)+-(16 —12) = ____
15.(154+10) - (50+-10) = ____ 16. (19+ 1)+~ (9 -6)=___
Evaluate.
17.c=3 18.r=2 19. w=7

4.(7-09 42 =7)-(r+ 1) (72 +9) - w
200m=20 21. h=14 22.p=19

(12<+-3)-5—m) 45 + (h — 5) p+1+-0O-4)
23.v=6 24, t=1 25.g=10

(18—-9)+ 2+ F-2y+t (g+ 90y + (17 — 13)

Solve for (Jor n.

26.7-3+2)=7-0O 272.9-1-4=0-.4 28.8-(4+5 =0.9

O= ) O= — P
29.6-(8—8)=n 30. (12 —-6)+-3=n 31.21=+-7)- 5+ 5)=n
n= ____ n= ___ n= ___
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